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R o

0438 (000000000) 000000 f0O0000000O0DOODOOO00OOOOOO
1 ol |0

z, R®000 o, |1], |1 ,RZDDD{F],[O]}.
1 0 1 ! :
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1 -1 2

(1) f:R* =R f(z) = [3 10




- 1l [1] [o :
(2) f:R3 = R? f(x) = 2 4l xz, R3000 ¢ |of, |2], [1| p, R2ODODO L2
1 5 3 20" |3
L 1 |2 [t L
1 -1 O ol 1] Jo] To
B)f: R =R fla)=1]0 2 w,RQDDD{L],L },R3DDD o, |1, [1] ¢-
—2 1 . 1| o] |1
2 ~1 1 0
bo-b 23 3 0 2 1
4) fR*-=R%f(x)=|0 2 0 1|z, R* 000 A NN ,R3 00D
-2 1 1 2
5 2 —1 3
—1] [2] [-1
01, (3],]2]¢-
5 1 3
1T [ 1 1
2 4 31 AL 0 ) 1
G)fRTP=R:flx)=(0 -3 1 1|z, R*O00O0O ol 1l 10 1y ,R3000 1],
1 2 10 0
2| |1 0 0

B

-1 1 0
0 -2 |-1
4 3 2
2 —-1 3
_ 1 0
x1+x2 ! 0 ! 2 1
M FR =R f)=| 27" | rRPooo{ |1, [1], |o| b, R*ODDO :
Ir1 — I3 0 -1
0 1 1
Ty + 22+ 23 1 0
0] o
0| 1|0
1”10
2| |1
1 0 0 0
T+ 2190 — X3 9 1 0 0 1
(8) f:R* =R f(x)=| 2x1—5z0 |,R*DOO0O 0 . . 0 ,RP OO0 1
7%1—3%4
1 0 2 1
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1 0 -2
(9)f:R3—>R3;f(:c){3 4 5

()

-1 2 3
2 3 -1 0] [2 3

(10) f:R* = R% f(x)= |1 0 —3|=, R*000 < |=2|,]0], [-1]p-
5 2 2 2| |1 0
(2 0 1] (1] [2] [3]

(11) f:R* = R% f(x)= |-1 -3 1|z, R*O000 ¢ |1], |1], |1] -
2 5 2 o] (1] |1
(1 -1 0] o] [1] [2]

(12) f:R* =R f(x)=|1 -2 1|z R*000 ¢ |1], |0], |1] .
-2 4 3] o] (1] |1

0 439 (00000000O0) DODOOODO FOOUOODOOOOODOODOODODOOODDOOO

(1) F: Rlz]n — Rlaln; F(f(2)) = f'(2), Rlz], 000 {L2,2% - 2"}

(2) F: Rlz], — Rlz]y; F(f(z)) = f"(z), Rlz], 000 {1,z,22,--- ,2"}.

(3) F : Rlz], — Rzly; F(f(2)) = f"(z), Rlz], 000 {1,2,2% - 2"}

(@) F: Rlol, — Rlel,i FG(@) = [ ) do. Rl 000 {Laa?, -+ a7,

(5) F - Rlels — Rlals; F(f(@)) = 7(0) + f()e + f(2)% Rlals 000 {1,2,42).

(6) F : Rz]s — Rlzlo; F(f(z)) = f(0) + f(Dz+ f(2)2?, Rz, 000 {1+=z,z+2%1— 2%}
(7) F : Rlz]y — Rlz]o; F(f(z)) = f(z) +af'(z) + 22 f"(z), Rlz], 000 {1,,2%}.

(8) F : Rlz]y — Rlzlo; F(f(2)) = f(z) + zf (z) + 2*f"(x), Rlz] 000 {1+ z,z+ 2% 1—2?}.
(9) F : Rlz]s — Rlzlo; F(f(z)) = f(0) —2f"(z) + (1 — 2?) f"(z), Rlz], 00O {1,z,22}.

(10) F : Rlz]y — Rlz]o; F(f(z)) = f(0)=2f"(z)+(1—2?)f"(z), Rlz], 000 {1+ az,z+a%1—2?}.
(11) F : Rlz]o — Rlz]o; F(f(z)) =2f"(z) + 3f(z), Rzl 000 {1,z,*}.

(12) F : Rlz]s — Rlz]e; F(f(2)) =2f"(z) +3f(z), Rlz], 000 {1+ az,2z+a%1— 227},

4.8 0O0OO0O0OO0OOOO
00 440 (0) 0000 f:U—-VOOOOOO
Im (f) = f(U) = {v €V | v = f(u), VueU}
O fO000imaged 0000
00 441 (0) 0000 f:U—-VOOOOODO
Ker (f) ={uweU] f(u)=0v}
O fO000kerneld00O0O

00 442 (0000O0OD0) D000 f:U—-VOODIm(f)DVODODOODOOOOO

0000 O Im(f) cVOOOOD vi,v0 0000 vy = f(uy), va = f(up) 00000000
u,u, €U 000000000

flauy + Buy) = af(ur) + Bf(u1) = avi + Bvs
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0000000000av; +8v, elm(f) 00000000000 v,v,€Im(f) 00000000
a,e KOOOOOav, +Pv, cIm(f) 00000000Im(f) 0 VOOOODOOOOO

00 443 (000000) 0000 f:U—V OO Ker(f)D U 000000000
0000 O Ker(f)cUDOOOODO up,up O f(uy)=0p, fluy) =0y 0000000000

floauy + fug) = af(ur) + ff(u2) = a0y + S0y = Oy

O0000000au; +Pur € Ker (f) 00000000000 wu,ue € Ker(f) DOOOOOOO
a,fe KOOOOOau +pureKer(f) DOODODODO0OOKer(f) D U ODOOOOOODOO

49 00OO0OO0ODOOODOODO
00 444 (0000000) O0DD0D fUOO Im(f) D000000rankO0 0000
vantk (f) = dim(Im (/))
0000000000 Ker(f)UOOD0O0O0O0O0OnullityD 0000
null(f) = dim(Ker (f))
gooooo
00 445 (0000000) 0000 f:R* > R™ y=f(z)=Az 0000
rank (f) = rank (A)
oooogooofOoO0bDOOO
null(f) = n — rank (A4)
gooo
o000 00O fO00O0O0O0ODO
Ker(f)={xecR"| Az =0}

0000000000 Az=000000000000 Az=0000000000000 n—rank(A)
gobodgboboooboooboo

null(f) = dim(Ker (f)) = n — rank (A)
00000000 f0000000
Im (f) = {y = Aw | ¥z € R"}
0000Im(f) 000000
T
€2

’!/:Adf:[al ay -+ Qn| | . | =T101 2202 + -+ Tpay

In
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yogooooobb gy ay,---,a, U000
Im(f) = (a1, az, ---, an)p
ggooooooboboobobobootbo 1o oooooboooboo
rank (f) = dim(Im (f)) = rank (A)
gogooon
00 446 (00000O0) 0000 f:R* 5R™ y=f(z)= Az 0000
null(f) + rank (f) = n = dim(R")
gooooooooooo
00 447 (00000O0OO0) ODOOO f:U—-VOOODO
null(f) + rank (f) = dim(U)
goodaon

0000 Ker(f)cUDOOO {uy, -, u,}000Im(f)cvV 0000 {vy, -+, v, 0000000
UODO0000 tpsy,- s Upps O

flurp) =v1, oo flurys) =vs
oooooooooooo 1ooa
arwy + -+ apup + b1 + bsurys = Oy
oo0DbOo fO0OOODOO

flarur + -+ apuy + brupgr + -+ bsttrys) = f(Op)
arf(ui) +--- +arf(uy) + b f(urgr) + -+ bs f(urys) = Oy
a10y + -+ a0y + bjv; + - -+ 4+ bsvs = Oy
bivi + -+ bsvs = Oy

odddwvy, ---,vs 01000000 b=---=b,=000000000
aiuy + -+ ayu, = Oy

0000wy, -, u, 010000000 a1 = =a,=00000000 w, -+, Ur, Urg1, -, Upps
0100000000000 00000000 w0 fO000000000 f(w)0 VOOOOOOO
0000

f(u) =bjvy + - - + bsv,
dooooooon
flu=brupiy — - = bsturys) = f(uw) = b1 f(urs1) — - = bsf(Urys)

= (b1v1 + -+ + bsvs) — (1v1 + -+ + bsvs) = Oy
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0000000000 vw—"biups —--—bsurps O Ker (f) DO0O0O0O0D0OO0OO
U —bitpyr — - = bsUpys = arur + - + Ay
ooooooo
u=aiu; +- -+ au +b1upp + -0+ bty
0000ay,- - ,am by, ,b, 000000000
W=(uy, -+, Up, Upp1, "+, Upys)

D0D0D000000r4+s 000000 {ur, -+, W, g1, ,ss} 0 U 0000000000
dim(U) = r + s, null(f) = dim(Ker (f)) = r, rank (f) = dim(Im (f)) =s 00 0O

0448 (00D0OOODODOOOOOO) ODDODOO

f:R> - R3; y=f(x) = Ax
2 -1 1 5 0

A=11 3 4 -1 7
1 0 1 2 1

00 Im(f)00 Ker(f) 000000000000 rank(f), 0000 null(f) 00000
00 ADDODDOOO

—1 2| =|by by by by bs
0

e

!

W

I
o O =
S = O
O =

J000ddoon0 bi=e,bo=e, 01 000000000000000O003
b3 =b1 +by, by=2b; —by, bs=1"b+2by

gboboobodg 1004 aq,---,aes 000000000000 a, a0 10000000000
gooooo

(0) az=ai+as, a4=2a1—as a5=ai-+2as

O000O0Ooooono Az=0000

-.rl- -—.7}3 — 2.7}4 — 33‘5- -—1- -2- -—1-
T —xr3 + x4 — 225 -1 1 -2
(D ) = |x3| = T3 =c1 | 1| +4+c |0 +c3| 0| =crur + cous + csus
T4 x4 0 1 0
I5 xI5 0 0 1

oooooo
fO00 Ker(f) 0000 Az=000 (0)000000000

Ker(f):{m€R5 } AZI)ZO} ={ cius + couzs +cauz | c1,c2,c3 € R} = (uq, ug, uz)p
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0000{u;, we, w3} 0 10000000O0Ker(f) J000O0ODOOOOOOODOODO
null(f) = dim(Ker (f)) =5 —rank (4) =5—-2=3

oooooo
fO00Im(f)00 y 00000000 zeR500000

I
y:Aw:[al a51| :$1a1+...+x5a5

Ts5
Ooooooo(@)oouooo

Yy = z1a1 + 2202 + 23(01 + a2) + z4(2a1 — a2) + z5(a1 + 2as)

= (r1 + x3 + 224 + x5)a1 + (x2 + 23 — x4 + 225)as = cra1 + 209
000000000 =214+ 23+20x4+2x5,co =20 +x3—24+22; 000000 0OOOOO

Im(f)={y=Az| 2R} = {za1 + - +usa5 | @1, 25 €R}

- <(11, az, a3, a4, a5>]R = <a’17 az, ai + as, 2(11 — a2, a1 + 20’2>R = <a17 a2>R
D00000{a;, a2} 0 10000000Im(f) 0000000000
rank (f) = dim(Im (f)) = rank (A) = 2

gooog

4.10 0O00OO0OOOO0OO0OO0

00 449 (0000) 0000 f:U—-V;y=f(e)0g:V-W;z=¢(y) OODODOOODO
heU—W;  z=g(f(z))
O f0 ¢gO0000DO0Ocomposited 0000
h=gof
oooogo
00 450 (000000000) DOOOOODODODODOOOODOOOOOOO

00 451 (0000000O00) 0000 f,¢0000000000 4 BOOOOOOOOOOO
00 h=gofO00D0000 C=BAO0ODOOO

0 452 (000000000O0O0O0OO) 20000

f:R* = R™; y=f(x)=Ax, A:mxn
g:R™ > R z=g(y)=By, B:lxm
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ugoboooboogod

h=gof:R"— R,
z=go f(x)=g(f(x)) =B(Ax) = BAx =Cx, C:lxn

gboobobobo

gooo

4.11 00O0O0O0OOO0OO0OO0

00 453 (000000000) 0000 f:V—-VO00O0O0O00000OO0OO0OO0O0O
0000 VOOOO {u, - ,u,}) 00000000 00000000000

flu) =w1, - f(un) =un
00000000

(f(u’l)7 Ty f(u’n)):(ula Tty un):E(uh 7“71)

gbobobobobobobo FOODOO

4.12 00000000

00 454 (0000) O0D0ODO f:V—-VOOUODOD10100000000f000000regular
mappping] 0000

00 455 (000) 000 101000000000 f'0000000000000000000
obobobooboboboboboob

00 456 (00O0O0O0O0OO0O0O) ODOOOD fOODO0DO0DO0DODOOODOOOfOOOOOOOOOOOO
gobooboobbooboon

0000 (=)00 f,¢,h000000 A4, B,CO00O000O0O
gof=h <& BA=C
0000000000000000000D E000O0ODDOg=f"1000
flof=id & BA=E
000000000 B=A"1000O0O

00 457 (0000000) f~'O00000000D0fO0O0O0O0 ADOOO A°'O00DODOOOOO
gooooo
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0 458 (00000000) 0000 f:R2— R
1 2 1 —4
(B ()1

-1 3 1 3
3 1 1

goboooobooooooo

A= = —10#£0

] . det(A) = |_3

ooooAO0DOOOOOOOOOfOOODODDOOCOO

0459 (00000000000) 0000 f:R3 Ry y=f(z)=x—(z,e3)es 0000000
ooooo

1
A=10
0

S = O

0
0,  det(A) =
0

o O =
S = O
o O O
I
@)

0000000 ADDOOOOOO f0000000000O

0000 (#1,22,1) 00 (21,22,2) 00000 000000000 (21,7,0) 00000000
00 (21,22,0) 0000 23 000000000000 0000 (21,20,0) 000000000 f°
0000000 (21,7,,0) 00000000000000000000000O0000 f010 10
O0000O0O0O0O0R*000000 fO00000 72, 000000000242, 000 R30O00DO
0000000 f00000000000

00 460 (DO0OO0O0O0O) D000 f:V—-VOl(f)y>00000f00000000000O0O
O00OKer(f) DOOOOUOO Oy DO0ODOOOODOOy DDOODOODOODOOODOOOOfO1O 1O
gooboooooboooboaoo

4.13 0000 O ODDOOoOoOoobo

0 4.61 (000O0O0O0ODOOOO0OO0) DOODOOOOOOOOOOOOODODOOOOODODOOOOOOO
oooooofOO0O0OOOODbDOOODO

(1) £ B2 - R f(z) = __11 §] r (2 fi R R f(z) = [;1 jﬁ] .

(3) f B2 — B f(a) = 2 ;]a: (4)f:R2—>R2;f(w)=[8 8]*’”

o) 7~ R - | L jf] z () [ R~ R () = [‘f _36] x

(1) R — B () = =_§ S] z (8) f R R () = [ﬁ 01] x

(%f:M—HWJ@%:Q ﬂx (10) f:R? =€ R?; f(x) = é 2w
L 15
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(22) f

(23) f

RS — R f(@) = |
[ 2
R? — R f(z) = | -1
1
[ 2
R? — R3; f(x) = | —6
4
[ 1
R? — R3; f(xz) = | 2
-1
[—1
R SR f(x) = | 2
1
[ 1
R~ RY (@)= |
1
[0
R® — R f(z) = _11
1
[ 1
R )= |
0

11 -1
x (12) f:R* SRy f(x)=1]1 2 1|z

5 7 -1
—1] 1 2 -1
1|z (14) f:R =R f(x)= |3 -1 —2|=x
2 1 -5 0
-3] (1 1 -6
9z (16) f:RP =R flx)=|-3 1 2|
6 | 1 -1 2
—1] 1 2 -3
3l (18) fRE=R:fl)=1(0 -1 2|z
0 | 2 3 4
2 -1 2 4 3 1
4 8lz (200 f:R*=RY%flx)=10 0 1 1|=
—2 3 1210
1 00
1 01
2 0 2|7
2 11
1 1 3
-5 -1 —4
4 0 1]|°
2 -2 -5
~1 -3 2
—2 -8 7
0o -2 3|7
-1 -5 5

0 4.62 (00000000000O0OCOODO) D00ODODO O OOOOODOODODODODODODOODODO
goboobooobboobooobobooobooboobbooboobobon

0 4.63 (0000) 0000 f000000 ADODDOOOOO ¢g0O00000 BOOOOOOOO
gofO00D0O0O0DODOOO

(1) A

(3) A

4.14

1 a’B: 10 (2) A=
a 1 b 1
53 2 1 2 0
2 1 1|, B= ]
2 -1 3
-3 0 0
gogdno

00 4.64 (0000) 00 AeRvn QO

2 3 4 1 4 -3
-3 -2 3|,B=(2 0 1
0 1 0 -3 -2 0

AAT = ATA=E
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000000 A0OO00OOOOorthogonal matrixO 00 00
00 4.65 (00000000) DODODOOO0O0OO

det(A) = £1
oooo
oooo AAT=fFE0000000000000

det(AAT) = det(A) det(AT) = (det(A))? = det(E) =1

00000 det(A)=+10000
00 4.66 (000DO000D00) DO00O0DOO0OODOOO
0000 det(d)=+14A0000000
00 467 (000D0D0000) ODODOO0OO0O0OO

At =AT
0oooA-'0D00000O0O0O0O00
0000 AQD000000 A'0 AAT=fFp0000000D0

AMAAT = A'E = AT =47t

oooo
00 4.68 (00ODDODO0) 00ODDDDOOO0O0OO0OO0OOOOOO
oooo A, BOOOOOOOOO

AB(AB)T = A(BBT)AT = AEAAT = AAT = E.

4.15 0O0O0O0O0OO0OO0O0oOgn

00 4.69 (00000000 0O0) DD ADODODODOOOODOOOOD ADODDODOOOOODOO
goboobooooboobooooooobooooobooon

o000 0O0O0OD AO0O0ODOOObOboOooo

A=\|a; ay --- an]
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ooooATA=FEO0OOO

[a,T ai’a; aiTay -+ ai’a,
AT A = a2T a1 ay - a,| = a2Ta1 azTaz a2Tan
_anT anéral (lnTCEQ e anTan
—(al ,a1) (ar,a2) -+ (a1, ay) 10 --- 0
_ (a2, a1) (a2,a2) --- (a2, ay) _ 01 0 =
|(an, a1) (an,a2) - (an,an) 00 --- 1

Oooooo
(ai, aj) = di;
O0000000000000000000 AAT=EQO0O0DOO0O

00 470 (00000000000) 0000 VvOOOOO{uy, -, u,} 0 {vy, -+, v,} 0000
00000000000000 {uy, -, u,} 00 {vy,---,v,} 000000 POOODODOOOODO

gbob pPOOODODODODOD

(’U17-.-,Un):(’LLL..-,Un)P, P:|:p1 pn]

gopbooboobooo

n
Vi = E DPkiUg
k=1

oooooooa (ui,uj):&j 00

n n

n n n
(01, ) (zpmuk, zpmuk) S e ) = 35 puptic = 3 pe
k=1

k=1 k=1 =1 k=1 =1
= (p;, p))

0000 (wi,v;)=6; 00 (p;,p;) =6; D0OD0DOPOOOOD0DODOOOOOOOODOP
000000000

0 471 (00000000) ODOODOOUOOODDODDOOOOOOOO

10 1 1 2 1
01 i v 5 v
1 1
NV 0 1 0 0
0 0 1, 0 sinf cosf
% —% 0 0 —cosf sin6
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0472 (00000000) 0000 AeR>*20000
A c?sﬁ —sinf ’ B C?sﬁ sin 0
sinf cos6 sinf —cosf
oddoooooooouoon

0473 (00000000) D0OOOOOOOODODOOOOODOOOOOODOODODODOO

1 -1 1
( P R P I T R
wy, Uz, Uz} = { — . — N
1 2 3 \/§ \/g \/6
0 1 2
goooogopoooggoo

1 1 1

i Vi G

g | a0

i AW

0 1 2

VA

gopboooboogn

4.16 00000

00 474 (0000) D000 VOOOOOOOOO f:V—->V;y=f(x)0O
(m,w'):(f(m),f(:c')), Ve, x' €V

0000000 f000000orthogonal transformationd O OO0

00 475 (0000) Doboovooooof{uy, --+,uw, ) 000000000 0O0O0ODOOO f:V >V,

y=f(x)0000000000000000000{f(u),---, f(u,)} 0000000000000
ooo

D000 (0000)f000000000 (¢,2)=(f(z), f(2) 00000
(f(ui), flug)) = (wi, uj) = ;.
(0DDO0) {f(u), -, f(u,)} DOODOOOOOOOO0OOODO (f(w), fuy)=06; 000000
ooood =z, €V 0O
T=z1U + -+ Tpuy, ' =2iu+ -+ u,

goboogbooooo

n n

n n
/
= E Tiu;, g T g a;za;] (u;, uj) g g ;T 6” = g xizh,
i=1 i=1

=1 j= i=1 j=1

(f(@), (=) = <f (Z xu) f <§;x u>> (;xiﬂua, ;x;ﬂui))
—sz, w), ZZW 513—2371

=1 j=1 =1 j=1

0000000 (z,2) = (f(x), f(z) 0000
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00 476 (00O0O0O0O0OO0O0OOO0OO) ODDODOO fOODO0DOOOODOOOODOOOODODOO

]| = [1f ()]

gooog

0000 (0D000)f000000000 (@,«)=(y,y)000000e=2 00000 y=1v
0000 ||lz|2=|y|?0000@000) {uy, -, u,} 000000000000000000 0

T=21UL + "+ TpUy

goooooon

n n

n n n n n
|]* = (, z) = (Z Tiug Z%%) = wiwy (wi, wg) = Y miagliy =y a
i=1 i=1 i=1 j=1 i=1 j=1 i=1

2 2
=2’ + 4w

n

If(@)]* = (f(x), f(z)) = (f (Z; wluz> S (Z} xﬂh)) = (;xif("i))v z;xif(ui)>

=D i (flwi), flug) =Y @l f(@)|? + ) wiay (fwi), fluy))
i=1

i=1 j=1 i#£j
0000z, --+,2, €eROODO0O0OOOODOD |z|*>=|f(x)?000000000

(f(wi), f(uy)) = by
00000000000000{f(uw),---, f(u,)} 00000000000 fO0000O00O0O0
00 477 (00000000000ODO) 0000 fO0000000O0DOOOOOO
00 478 (00D0DD0OO0000OD0) 0000 fO0DO0OO00O0OOOOOOO
D000 y=f(x),y =f()0000]z| =yl || =yl (z.2)=(y,y) 000

(z,2')  (y,v)

EIE

0000z, 2 00000y, 0000000000

00 479 (0000) 000000000000 O0OO0OU0DOO0OUOOOO congruent transformationd
do0bOoobO0odbOo0oboDbObOo0bO00obOoOOo00ooOoOooDbOOoobDOo0bOoOobDoOoOooObOoOoooa
000000000000 DO00000D0000D000000D0000D00000DOdsimilarity
transformation0 0 000000000000 OO0ODOO0Oisometric transformationd 00 00

00 480 (0000O) DOD0DO0OODOOOOOOOODOODOO
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4.17 0OO00OO0OO0OOO

00 481 (D0OOOODOOOO) ODDODOO f:V—-VOOOODOOOOODODOOOfOODODOODOOOO
gboboobooobboooboooboboon

0000 00000O{uy, -, u,) 0V OOOOOOOOOO0O0f00000000000 {f(u)
-, flu,)}00000000000000000000 {uy, -+, u,} 00000000 {f(w),---,
flup,)}) 000000000 ADDOOOOOOO0

(f(u1)7 T f('u’n)):<u17 T un)A

oobooooodbD AOD fOODOOO0ODOODOOOOODOODO fODO0ODODO ADODDOO
O00oo0o00oDAODOOOOODO

y=Ax, vy =Ax
gobooooon
(f(z), f(2') = (Az, Az') = (Az)" Az’ = 2T AT Az = 2T (ATA)z' = 2" Bz = (z, a')
00DOooooD fOO0D0DOODOO

4.18 0000

0482 (00000000) 0000 f:R?2—R?y=f(z) = Az,
01
10

00000AAT =F 00000 ADDODOOOOOO2000000

’
I X
T = , ="}

A=

0 f0000

gopooogogno
(z, ') = z12) + 222 = 2oy + 112) = (y, ¥)
000000(z,«)=(y,y) 0000000 f0000000000000000

(x,z)  (y,vY)
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as as c 1

ooobobobo FO A=400000000ODO
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D000A=20000
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0 0 -2 0 0
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a

o
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0 0 -3 00 0

134
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1
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W4)eW2)eW(1) = (fi)®(f2) ©(fs) = (f1, f2, f3) =R[z]2

OD00O000R[z], O W), W(2), W) 0OOO0O000O0O{f,f,fs} 0 Rz, 0000000
0000 FOOO ©={1, z, 22} 000000000 A0D0ODOOO X ={f, fo, s} 0000
FOOOOOOOOOOOO Y0000 0000 (ag,aLa)y 000000000 (0)00000
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0000 g=F(f) & 0O00O0b=¢p(a) < 0000 b=Aa
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13 14 ]
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O BOOOOOsimilar000000Oequivalent0 OO0 00000
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00 539 (0000O) 0000

gogoooobon
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googo

00 ADDOOOO M, A, -+, ) 000000000000000000000000000, g,
.-,A,000000000000000p,,py,-,p, 0000000000000 Az=Az00

Apl:)\lpla Ap2:)‘2p27 Ty Apn:)\npn
gddooodobooouoouoooooon

[Apl Apy .- Apn}:A[Ih by - pn]:A-Pa

A
1 N O
[Apl Apy - Apn} =[>\1p1 Aopy -+ Anpn} :[pl Py - pn} 5 =PD
0 A
00000000 AP=PDO000OODOPODOO0OOODOOOOD P2O00OD0
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000000POODOODOODOOOODOOOOD py,py, -, p, 01 000000000000

00 5.40 (000) 0000 AQDOOODO A, A, -+, A 0000000000000000 py, py,
o,p,0000p, Py, -++,p, 0 1000000000AC

DZP_IAP) D:diag()\la)\Qv"' 7>\n)7 P = |:p1 by - pn]
ooooooooOon

00 5.41 (0000000 10000) 000 A, -+, A 0000000000000000 py,
...,p, 010000000
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PP 0100000000000
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OoooooooD AopDooo
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Ar41Prg1 = LA 41D + QA4 1Py + - + G A1 D,
gooooooooooon
(A1 = A 1)Prgr = 1M1 — APy + 2(Ar1 = A2)pa + -+ + ¢ (A1 — APy
0 =ci(Ar+1 — A1)p1 + c2(Ar1 = A2)pa + - + & (A1 — M),

ooooooo py,--,p, 0 10000000p,,+-,p, 0 100000000000000000
M AN, A AL o A FEAp D00 =c=-=¢=000000000 p,.;, =000
0000000000000000000000000000000Op,,++,p,, P,y 010000
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goooaoo
00000 ADODOOOOO
t—8 10
t) =det(tE — A) = =({t+2)(t-3
gat) =destE—A) = |' > D= (t+2)(t-3)

O000000ga(N) =000 A00000 M=-2,=30000Xx=N=-2000
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D000 N=X=3000
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[0 )\2] 0 3] [pl pQ} [1 1]

O000det(P)=-1#0000000PO0O0O0O0O0ODOOOOO AD
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000000000000000000000 POOOOOOOO PloOoOoOO
PDP ' =pPP'APP' = PDP'=EAE = PDP'=A = A=PDP!
000000000000oOon0 A% O
A¥ = (PDP~Y(PDP™Y) ... (PDP™1)
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0 .
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gooboooobooooooo
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1 . . . .
(34) 8 —2i T —i (35) | 1—1 -3 —1
2 i 7 —3—3 ) )
1 3 1 -1 0 4 1
37) o —2 -1 (38) 3 2 39 o 2 -1
3 -1 1 1 2 1 2
-1 -1 -6 3 1 2 01
(41) 1 -2 -3 0 (42) 0 -1 5 4
-1 1 0 1 0 0 20
-1 -1 -5 3 0 0 0 3
AA* = ATA

000000 ADOOOOOnormal matrixOO O OO

0558 (0000) 0000000ODODOOOOO

o O OO

e OODOMO

e NOODODOODO

o AT =4

-

—AT = 4

& A=A
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e JIIDODDODO & -—A*=A
e 1000 & ATA=AAT =

e JJ0D0OOOD0 <& A*A=AA*=F

00 5.59 (00000000) \,p00000 AODDDODOOODOODOOOOODOOOON pO
A000000O0OCOOO0O0OOoooDO

goog

|A*p — Ap||®> = (A*p— Ap, A*p — Ap) = (A*p, A*p) — (A*p, Ap) — (Ap, A*p) + (Ap. \p)
= (p, AA*p) — X (p, Ap) — X (Ap, p) + \\(p, p)
= (p, A"Ap) — A (p, A\p) — A(Ap, p) + A\ (p, D)
= (Ap, Ap) = XX (p, p) = A (p, p) + A\ (p, p)
=(Ap, Ap) = A (p,p) =X\ (p,p) — A\ (p,p) =0
00 A*p=Xp 0000
0D 5.60 (00000000000) 000000000000000000000

0000 000 Mp(AMN4wp)J0000000 w,» 00000000 Au= M, Av=po 0000
000 Av=pov 00O

AMu,v)=Au,v)=(Au, v) = (u, A"v) = (u, @v) = pu(u, v)

000000000 A—p)(uw,v)=00000A#4x,000000(uw,v)=00000

5.23 0UODOUOOOOOO

00 5.61 (0000) 00 AcR™™O0AT=A0000000A000000symmetric matrix[
gooo

00 5.62(0000) 00000

aix; a2 - Aln

aiz2 a2 a2n
A=

Q1n A2n - dpn

oooboooo
0563 (00000000)0000000O0OOODOOO
1 0 -3 2 -1 2 3 0 0
1 0 1 -1 0 3
E= , ) , o -1 2{, |-1 4 -1, |0 -1 O
0 1 -1 2 3 -1 3
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00 5.64 (0000) 00 A= ey eC™» 0000 4= [g5| 000000

DD555@DDDDD)DDA:[%}e@“”DDDDDDDDDDDA“ﬂﬁf:ﬁTDDD
00O

00 5.66 (J0000000) O0DO0ODOOOODOOODODOOODODOO

0000 Az=X00000COOCCOOOOO

Mz, @) = Nz
)= (z,  \x) = (x, Ax) = (A*z, z) = (ATz, z) = (Az, x) = Az, z) = \(z, x)
= Az [ = Al

(e, )
, L

(A\x

00000000

(z, Ay) = (A"z, y)
000000000000A=A000000A0000000
00 567 (00000000) 00000000000000000000000000000
00 568 (000000000) 0000000000000
00 5.69 (00000000) 000000000000000000000000000

oooo DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDAT:A,
Au= )\, Av=puv, A\ 000000000

Au, v) = (Au, v) = (Au, v) = (u, ATv) = (u, Av) = (u, w) = p(u, v)
good
(A=p)(u,v)=0
O000000XA#p 00 (w,v)=00000
00 s5.70(00000000) D000 AODODODOOD DOODODODOD ODOOO

D =Q'AQ = QT AQ,
D =diag (M, -, \p),

CQ==[Q1 .. qn}, (a;, q;) = 64

gooboobood
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5.24 2000000000

0571 (0000000O000O0O0O) ODOOO

A:

1 2
2 1

0000o00oDOoooooAQOODOOODO

t—1 =2

t) =det(tE — A) =
ga(t) = det( e P

=(t—12—-4=t>*—-2t-3=(t-3)(t+1)

0000000000 ga(\)=000X=3,-10000

3E— A= 2‘?] oag, F‘4r —E-A=

-2 0 O

-2 =2 oono 1 1
s
-2 =2 0 0
O00OXAN=30 X=-1000000000000000

= [-[fl=m = [)-[-

DDDD@DM}D1DDDDDDDDDP:b1pJDDDDDDDDDDPDDDDDDDDD
0000000000000000000000000(p,,p,)=0000000p,0 p, 000000
0000000000000000

= CPy

P1 1 1 P> 1 —1
q, = = = 9 q, = = =
el V2|1 Ipoll V2 | 1
00000 (g;,4;) =6 (,j=1,200000000000000000000 AQ

3 0

D= Q_lAQ = QTAQ7 D = dlag (3, —1) = [0 1

)

S
[\

—_

], thlpJ:

S-S
S

00000 QUOODOD0OO
00 572 (000000000) 0000 f:R2-RLy=Az000000
WEBf) =0 ="(a), W(=1f)=(p) =(q2)
0000dim(W(3;f)) =1, dim(W(-1;f)) =1, W(3; f)nW(-1; f) = {0} OO
0)  WEHeW(-1f) =R  dm(W(3;f)) +dim(W(-1; f)) = dim(R?)

00000000 W3;f),W(-1;f)0 R?000000000000000000000000000
00000000000000000 W(3:f) LW(-1;f)0000W(S;f) LW(-1;f)0 (0)000
W(3;f)0 R20000 W(-1;f)00000000000000 W(-1;)0 R20000 W(3;f)
ooo0oo0o0o0o00

153



5.256 30000 ODO0O0OO

0573 (0000000O000O0O0O) 0DDODOO

1 -2 1 1 -2 1

oB-A=|-2 4 —2| 225 1o o o,
1 -2 1 0 0 0

5 —2 1 10 -1

—4E-A=|-2 —2 —2| 2%, o1 2

1 -2 -5 00 0

obbox=20 A =—4000000DO0ODODODODO

_23;2 — X3 261 — C2 2 -1
T = 9 = c1 =c1 |1l| +ca| O | =c1py + c2poy,
| 23 co 0 1
[ T3 c 1
= |—-2x3| = |-2c| =c|-2| =cp;
B c 1

DDDD@hmmﬁD1DDDDDDDDDP:@1p2pJDDDDDDDDDDPDDDDD
00000000000000000000000000000

(P1,P2)=-2#0, (p,p3)=0, (py,p3)=0
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0000O00p, Lps,py Lp; 0000p, p, 10000000000000000000000p;0
000000000

2
D1 1

q _= = 1 N
Yl VB |

/

Po=py— (P1,q1) Q4

-1 -1 2 2 -1 -1
B 0 1 . 1 N -2 1 )
1 1 ¢50 50 1 V55 5
-1
/
Y2 1
GO=77="7=121|,
27 phll - v/30 -
1
D3 1

—2

qzizi
*pll T VB |

00000(g,¢q;) =65 (,5=1,23)00000000000000000000 AC

D=Q 'AQ = Q" AQ,

2 0 0
D =diag(2,2,-4)= 10 2 0 |,
00 —4
2 _ 1 1
V5 V30 V6
Q= |l 2 @ _ 2
[pl Do p3] V5 \/53*0 I/g
0 Tm %

00000 QOOO00000
00 5.74 (000000000) 0000 f:RE—-R%y=Axz000000
W(2 f) = (p1, p2) = (a1, @2),  WI(=4[) = (p3) = (a3)
0000dim(W(2;f)) =2, dim(W(=4;f)) =1, W(2; f)nW(-4; f) ={0} OO
@) WEHeWE4) =R,  dim(W(2f)+dim(W(-4; f)) = dim(R’)

00000000 W(f), W(-4;/)0 R®O00000000000000000000000000
00000000000000000 W(2f) LW(-4;f)0000W(2;f) LW(—4;f)0 (0)000
W(2f)0R 0000 W(—4;f)00000000000000 W(—4;f)0 R¥*0000 W(2f)
0000000000

5.26 0000

000 AeR™ 000000 ADD0ODODODOOOOOO AOOOOODOODOODODOOOOOOO

00 g4(t) 0000000000g4(\)=0000 g4(A)=000000000000000 A000
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00000000 pO0000 Ap=Ap 000000000000 Ap= p000000X0000
00000000 pO00O0000O

Ap=2Xp, Ap=)Xp

gooboobooo

A(P TP AN (AN (PP (A=A\ (PP
2 o 2 o 2 2 2i 2i )’
A(P-P A= Xp_ [(A=X\[(p+D N A\ (p—D
2i 2% 2i 2 2 2i
z+7z z—Z
000000000 20000 Re(z) = ,000 Im(z) = 00000000 »00000

7

00000000000 Re(v) = [Re(vi)]nx1, Im(v) = [Re(v)]nxa 00000000
ARe(v) = Re(A)Re(p) — Im(A)Im(p), Alm(v) = Im(A)Re(p) + Re(A)Im(p)
ddd2z2x2000000

Re(\) —Im()\)

Im(\) Re(\) | TP

AP = A[lm(p) Re(p)] = [1m(p) Re(p)

000000p,p0 1000000 POODODOODDOOD=PtAPOOOOOO
00 5.75(0000) 000 AeR™™ 0000000000 OCOOOOOODOOOOO

(CB )\17 )\2 :)\717 )\37 )\4:)\737 R} )\2k—17 )\2]{? :A2k—17
RB )\2k+17”' 7)\7L

ocooooooooooooood py,---,p, 00O0O0O0OOODODO AD

D =P AP,
"ROV) -
R(X\2)
B h ~ [Re()) —Im())
0= Han) Aoki1 7 R = Im(A)  Re())
. i An_
P = Im(p,) Re(p;) Im(py) Re(py) -+ Im(pyr_1) Re(Por—1) Poki1 - P2k+1}

0000000000000 00O00DOOOO0OOreal canonical form??27200000

0576 (00000000) 00
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gobooaoo

t—2 1

=2 _4t+5
-1 t-2 +

ga(t) = det(tE — A) =

oooooooooo gA(A)ZODDD
M=241i, M=2-—1

gobooboobbooboooboon

i 1] ooo [1 —i]’ (2—i)E— A=

-1 3 0 O
r
r =2cC
1

Oo0o00O0no Agooooooooogogo

(2+i)E— A=

gogd

= Cpq, T =c [_11 = CPy

D =P AP,

D =diag (2 +,2 — i) =

Pl w1 7]

000000 ADOODDOOODODOOO0O0000M=),p,=0700000000000

0 2-z

2414 0]

D =P AP,

Re(\1) —Im(\)| |2 -1
Im(A;) Re(A;) | |1 2|’

P= [Im(pﬂ Re(pl)} = [(1) (1)]

0ooodd A=D, FE=PUO000000ODAO0OO0OODOOOOOOOOOODO

5.27 0OOOOOODO

00 577 (D00000O0) 00 AeC™0 A*A=FO000000ADDOOOOODOOO unitary
matrixO OO0 00O

00 5.78 (0000000000 00) 0000000 ADDDODOODODDOODOAA* = AAT =
rooooooooooooooooog

00 5.79 (000000000 0) ADDOOODOODODODOODDOOODOOOO

(1) det(A) = +1.
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(2) ADDODODODOO

(3) A1 = A*,

00 5.80 (0000000DODOOOOO) 00 AeC 00000000 ODOOOODOADOOO
goobooooooooOoOobOoooUobOooOoOobOobDOOoOoO0oDoOOoOOoobOoDboDooOo coog
goooboo

0581 (0000000000 0O0ODO) bDOODODODUOODOOOODODOO

0582 (00000000000) DODODODODUDODOUOOOOOODODODOODOOO

-1 =i 1

1ol 5 Lo 0 Vi VB V3

E = 0 1]7 [z _‘/;J, 0 2'({050 ‘sinQ , ? % (2)
0 sinf <¢cosf L £ 2

5.28 0UOD0OUOOOODODO

00 5.83 (0000) OO0 AeR™™ AT = _A0000000ADDDDOOO skew-symmetric
matrixOO OO0 00000 alternative matrixO 0 0 00

00 5.84 (000000O00) DOOODOOOODOUODOOOODOOOOODOOO

0000 OO0 A0DO0O0O0 ADDOUOO0O0OO00O0D0O00 00000000 Ae=Xx 000000
doooddooocooooooooao
Oz, z)=A\(z, ) = A
()‘xvx):(xa)‘x):(vax):(A*xvx):(ATwax):(_Awaw):_(Axaw)
- 0w, @) = X, a) = ~A[al? - —Xz|?

0000000000z, Ay) = (A*x,y) 0000000000000000000 Az|? = —X||z|?
0000000000 «00000000000A+A=00000000000 A00000000

00 5.8 (U000) D0D0DO0O0OOOOOOOO

00 5.86 (0000000 0O0OO) DOOOUUODUODODODODODDOOOOOUOUODODODOOOOOOO
goo

0000 00000000000000000000000000000000000000A4T =-4
0000,0000000000 Au=idu, Av=ipv, \#p (ApeR)ODO00COOOODOOOO

iA(u, v) = (i\u, v) = (Au, v) = (u,AT'v) =—(u, Av)
:_(u’iﬂv):_m(uvv):iu(u’v)
goad
i ) (w, ©) = 0

O000000MN#4p 00 (w,v)=00000
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00 587 (000000O0DO) 0000 AeR™™O00O0O0O N,---,A 000000000A00
oooooOo veCc™ OO0

D =U1AU = U* AU,
D =diag (M, -+, \n),
U= - n

0 cOoO000000O0O0O0O0Op,---,p, 0 A,,---,A, 000000000000 O00000OO
0000000000000

00 5.8 (D000000O0O0) 0000 AeR™OO0O00O0O
AL, A2 = A1, A3, Ad=A3, o, Anel, An = An1
00o0DoDoooooAdODOOO QeR™™ 0000
D=Q'AQ = Q" AQ,

i R(X2) 0 —Im(\)
b= - - RO = anA) 0 ]’
R()\n—l)
Q= [Im(qy) Re(q) - Tm(g,) Re(g, )]

000000000000000000000q,+-,9,0 A1,--+,A,00000000000Q 00
0D00000000000000

058 (00000000OOOO) OO

1
A= 0
-1 0
ooooooo
A 1
AE — Al = =\ +1=
| | L X
oodooood x=+¢—000aad
B A 7 —'1 ooog 1 2 ’ iE A —1 1 oog 1 —
1 00 1 — 0 O

gboobooooooooooon

goooooggno
7 0 1 |—1 1
D=U"AU, D = diag(i,~i) = |1, v=—
5 [ ] ﬂ[ ]
O cCOodooooooooooRrROOOOO0ooO
0 -1 1 [—-1 O
ero o=[' ] asn[
googog
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5.29 0ODOU0OOOOOOOOO

00 5.90(00000O00) 00 AeC™ 0 A*=A000000 A000O0CDOOOOHermite
matrixO O OO0

00 5.91 (000D0D00000000) 0000000 ADDDOODOOODOO0DD0A*=A4AT=A4
goboobooboobooobooboo

00 5.92(00000000000) D000DU0D0DUOOOOOOODODOODOO

0000 Az=X000COOODOCOOO

Az, z) = A(z, z) = Al
Mz, z) = (z, \e) = (x, Az) = (A*z, x) = (Az, x) = Oz, ) = ANz, ) = N|z|]2 = \||z|?

0000000000(x, Ay) = (A*z,y) 00000\ =N)|z|*=0, |z]|#0000A-A=000
O000ANO0D0O0O00O

00 593 (000000O0) D00O0OODOOOODOOOODOOD

00 594 (00000000000O0O0OO) D0O0DOOOODOODOOOOOOOOOODODOOOODOO
oooboobooo

ugoon oootbouoboboobtdoboboboboioooboobobuobonoooo
A*=A, Au = u, Av=pv, \#p (\peR)0D000O0COODOOODOOOO

AMu,v)=Au,v)=(Au,v) =(u, A"v) = (u, Av) = (u, pv) =4 (u, v) = p(u, v)
gooad
(A=p)(u,v)=0

O000000MA#4p00 (w,v)=00000

00 5.95 (00000000O0O0O0) D000O0OO0OO0 AeC™™OoOoooQg M\,---,A 000000
oooAO0ODDOOOOOUeC™rOOOO

D=U"AU =U*AU, D =diag(A1, -, \n), U:@lu.pJ

000000000000p,--+,p,0 A1,-+-,A 000000000000 C0CO0O0O000O0000O0O
000000000

0596 (00000000000 OOODO) OO

gooogoo

A—-1  —i

det(\E — A) = = A—2)=0
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ogoooodoo o,20000
—.1 —1 oog 1 2 ’ 0F — A —
i —1 0 0
gooooooocoooooo

—’i:L'Q —1 iZEQ )
T = =c = cp;, T = =c

0000(p,,p,)=000000000000 ¢ =p;/V2,q,=p,/v/200000000 A000
ooooD UOoooo

0F —A=

= CP2

0 0

D =U*AU, D = diag(0,2) = [O 5

1 |—7 1
, UZ[fh qQ}:\/ill 1]
goooooog

0597 (0000000000 OOOODO) OO

0 i 1
A= |—=i 0 i
1 —i 0
Doooooo
A =i -1
detAE—A)=|i X —il=A=12*\+2 =0
-1 i A

1 — -1 1 — -1
E-A=|q+i 1 —i| 222 jo o o],
-1 3 1 0 O 0
-2 — -1 1 0 1
—2E—A=|qi —2 —i| 2% o1 g
-1 2+ =2 0 0 O
gogoogoooogoooo
1r9 + 23 1 1 —I3 -1
T = T =c1 |1]| +c2 |0 =c1p + capoy, T = |—ix3| =c|—i| =cps
T3 0 1 I3 1
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0000 (py, pe) =1, (P1,P3) =0, (P2, p3) =0000000

1
P 1
q, = = 1f,
el V2 |,
1 L ! 1 1
p'2=p2—(p2,ql)q1=— 1], q, = p/2 =—|il,
2|, AN

D3 1

quizi
Iesl ~ V3|

gobodgboogooo (qi,qj):@-jDDDDDDDD AO0OOOOOOOUOOOO

i1 =1

10 0 v AR

D= U*AUv D= diag(1717_2) =01 0, U= |:q1 qd2 q3] - % ﬁ %
0 0 -2 0 % %

goobooboog

530 O0OUOOooOooboooon

00 598 (00000O0O0O0) 00 AeCv™ O A*x=-A000000 ADQOOUOODODOOO
0 skew Hermite matrixO O 0O OO

00 5,99 (00000000O0O0O00O0) D0DO0O0O00O0 ADDOOOOOOOOUOOOOA* =
AT = - A000000000000000000

00 5.100 (0000000 O000O0ODO) DOODODUODUDOCOOOOOOODODODOOODODOODOOOO
0000 Az=X000COOODOCOOO

Az, z) = A(z, z) = A
Az, xz)=(x, \x) = (x, Az) = (A*z, ) = (—Az,x) = —(Az, x)
— D, 2) = N, 2) = N[a]? = —Na|?

0000000000(x, Ay) = (A*z,y) 00000 A+ N)|z|?=0, |z]|#0000A+A=000
0o0o0oAOO0DODOOOO0

00 5.101 (CO0O0O0O0OO0O0) O0O0ODOO0OO0OO0O0DO0DOOOODOOOO

00 5.102 (000000000 0OO0OOO) DOO0ODOOO0DOOOODDOODODDOOODOOOOOOO
gooboooooon
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0000 000000000000000000000000000000000000000000
A*=-A000,0000000000000Au =i\u, Av=iuv, \#p (\peR)O0000C O
00000000

i (u, v) = (idu, v) = (Au, v) = (u, A*) = (u, —Av) = — (u, Av)
= —(u, ipv) = —ip(u, v) = ip(u, v)
ooodo
iA=p)(u,v) =0
000000MN#4p 00 (w,v)=00000

00 5.103 (00000000O00O0ODO) D0O0OUO0O0OOO0 AeC™™OOoOoUO A,---,A 0000
oooooADOODOOOOUeC™poOOO

DZU_IAUZU*AU, D =diag (A1, -+, \n), U:[p1 Pn}

000000000000p,--+,p,0 A,-+-,A 000000000000 O000O000O00000O
000000000

0 5.104 (00000000 0OOOODOOO) OO

gobooaoo

det(\E —A) = |~
—1

ooooooo «—0o0oo
1 1 -1
z. ,Z boo, , —FE - A=
-1 1 0 O
O00000000o00oo00oa
T = =c = cpy, T = =c
€2 1 x2 1

0000 (p,,p,)=000000000000 ¢, =p,/V2 q,=p,/vV200000000 A0OO
Oooooo Uoooo

E—A=

= CPy

¢ 0

D = U*AU, D:&%@—O:L ,
—1

goboooooo
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5.31 0ODOUOOOoooO

00 5.105 (CC0000000) DOOODOOOODOOOCODO 1000000 OBOOO
0000 ATA=E Az=)x000CO0O0000OOO0

Az, A\x) = M\ (z, ) = | A2z
Az, \x) = (Az, Ax) = (ATAa:, z)=(Ez,z)=(z,z)=|z|

0000000000z, Ay) = (ATz,y) 00000 (A?=1)|z|>=0, |z A0000[X =100
oooo

00 5.106 (CO0O0) D0O0O0O0OOOOOOOOO

00 5.107 (000000O00O0O0OD) DUOOO0OOOUDOOUOO0OOOODOOOODOOOOOOO
goo

0000 0O00O000000000000000000000000000000000004T4A=E
000,0000000000000000000Au=¢?u, Av=ctv, \#4pu(\peR)00O0OC
000000000

(ei)‘u, e“‘v) = et (u, v) = ePe ™ (u, v) = O (1, v),
(ei’\u, e”"u) = (Au, Av) = (ATAu, 'v) =(Fu,v)=(u,v)
0000000 (x, Ay) = (ATz,y) 00000
(&A1) — 1) (u, v) =0
O00000XA#p 00 (w,v)=00000

00 5.108 (C0000000) D000 AeR™™pOOO0O0O M\,---,A 000000000AO
ooooooo uveCcr oo

D=U"YAU = U*AU, D =diag(\, -, \n), U:[pl Pn}

ooooooooogoDpy,:---,p, 0 AL--- A, 0000000DOOO0OQUOLODOOOOODOOO
goooooogon

00 5.109 (000000000) 0000 AeR¥™™O0000

A, A2 = A1, Az, Add = A3, o, Aapo1, Aok = Aok—1, Aokr1 =1, oo, A =—1, -+

164



O00000oonoAQOOOO0 QeR™O00O0O

D=Q'AQ =Q"AQ,

R(\)
R(A2)
R(Xog—1)
D= . ,
-1

R()\)_— Re(A) —Im(X)|  [cos(arg(A)) —sin(aré;()\))

~ [Im(\) Re(N\) | |sin(arg())) cos(arg(\)) |’
Q:[Im(th) Re(q) Im(qo—1) Re(qap—1) okt @ ]

000000000000000000000qy,-+,q,0 A1, ,)\ 00000000000Q00

gobooobooobobooooo

0 5.110 (00000000000 0O) OO

1 V3
A= 2 2
V3 o1
2 2
ooooooo
oLV
E—A) = 2 2 =2 1=
det (X ) <_)f§ N M-+ 0
2
ooooooo
1++vV3i 1—+3i
2 2
o000
1+\/§Z‘E—A*1 V3i V3 00O 1 —i
2 2 =V3 V3B 0 0]’
1_\/§Z‘E—A*1 —V3i V3 0oQ 1 4
2 2 =V3 =3 00

gooboooooboooboooan




0000 (p,,p,)=000000000000 ¢, =p,/V2 q,=p,/vV200000000 AOODO
00000 Uoooo

D = U*AU,
) 14+v3i 1—+3i 1|1++3i 0
D = diag , == o
2 2 2 0 1—+3i
1 i —i
Uz[lh QQ]:\&L 1]
O00000o0oooooong
1 V3
5 5 10
D=Q"A D=2 2 =
2 2

gooog

5.32 0OD0O0O0OO0OO0OOODOO0O

00 5.111 (0C0000000000) DOO0DO0O0D0D0O00OO0OOO0O0O0O0 10000O0ODOOOO
0000 A*A=F Az=)c000COOOCOOOOO

Az, A\x) = M\ (z, ) = | A2z
Az, \x) = (Ax, Az) = (A*Axz, z) = (Bx, x) = (z, ) = ||z

0000000000 (x, Ay) = (A*z,y) 00000 (MN?=1)|z|?=0, ||| #0000N\ =100
oooo

00 5.112(0000000) OOo0oOO0OO0OOoDOoOOoOoOooOooOOoOO

00 5.113 (0000000000000 0) DODO0OU00O0O0OO0O0O0ODOOUOOO0OOOO
gboobobobo

0000 000000000000000000000000000000000000000004
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O00D0ADDDOODDOOUeC™ DODOOD

A\, 00000

D=U"YAU =U*AU, D =diag(\, - ,\n), U:[p1 pJ
000000000000p,--+,p, 0 A,-+-,A 000000000000 000O00000000O
000000000
5.33 0000000
000 5.115 (0000000)

0oo ROO ROO |cooOOO
oooo 0000 | 00000
oooo 00000 | 0000
R™" 50000 0o o
(AT = A)
R™n 50000 00O o o
(AT = —A) or 0
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OO0 AeR™™mO000000O0O0O0OO
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1
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Oo0o00o0O0x=-10000
2 3 2 1 01
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1 2 1 0 0 0
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O00000(A+E)z=000000000000

—T3 —c -1
x=| 0 |=[0|=c| 0| =cpy (c#0)
T3 c 1

000000dim(W(-1)=100000000000(A+E)?%x=00000000000000
Wy(-1)0DDO0000000

2 3 2 —1 101 -5
A+E|p)=1000 o =% Jo10 3
121 1 000 0
O00(A+EBz=p, 0000
53 _5 —1
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0000000000
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170
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F(z,y) =ax? +bry + ey’ +dr+ey+ f=0
000000000 20000000
06.1(00000)0000200000000000000000
e y00DDOOOD y=220 F=2?2—-y=00000000 20000000
e x 00000000 z=9?0 F=¢?—-2x=00000000 20000000

e 2000 F=22-2zy+y’—2—-y=000000000000y=2000000000000
0000000 =320 7/40000000000000z=(2'+9)/V2,y=(—2"+y)/V2
00 (¢,y)0 (z,y) 0000000000 DOOO

062 (0000)000200000000000000000
e 00 22/4+42/9=10 F=922+4%-36=00000000 20000000
e 00 22+9?/4=10 F=422+4?>-4=00000000 20000000

e 2000 F=52245y2+62xy—4=00000000000000000000000 224¢%/4=1
07r/4000000000000

063 ((00000)0000200000000000000000
e D00 22 —y?=10 F=2>—-9y?’-1=00000000 20000000
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